FrSO5—% ILrv—% ¥4 SL|JRk |[S1=VT HiE | WK | HE | FIR XE
Wg“aj——h ( -5 * - -k | 87 |- | BB -
R HA—T7—ROIFRSHE
- JAYY Lk e USLOR  [0]1d10] S#ees | - [ BF | BF [ 1100]
HOMmROX HE IR ~SOHPTHETE
AFvar IOTIU iR 26 KRl ' BEOER (1] [ EBE | | [ EN ]
=10 B &5 RRiE TIERERE 43 oyl IR NSRRI DHIREF1 DEZ
EaiEk [10] B | | [ EN |
HE RIEHR =8 L L B HF v EAHPTLVX30
WA =4
w4l D—032[F—72| mE | BEE | mom | [ we | 345 || FooM#ER [ 1] | #w ||| | |
= MR : TENE+ (¥
el ! 0 0 > 6 mE | a4 Ea1—VYIXRAN— | 1] S \ \ | RB |
R 1 0 0 5 6 (FEEERAS) 44 v EHHEDILY
5 1 3 2 5 16 i 49 =
T . : : e Boko® (4] 3 | Gur | | @s[E®|
R : RREEng#RRRFHP-LVD(4/5/6)
Itk B B #He FUIVIEXSIL [ 5] 2 [vAF—] | B% | A% | RB |
BiBE | SL | BIE| BE | SL | {BIE| f%HE | SL |{BIE| I8 | SL | {BE | ®: I-UHRER+LVX2(10/12/14)
B |20 -2 | RC |1 8 |2 BkAOBE [2] 4 [vaF—] | B85 | 8% | |
1B HE 1 B& 6 EhE 2 o J-UFRGIE+LVX3(6/9/12)
8 i A w%: UGN | 1 BELBEDE | 2 | \ \ \ \ \ \
SEHE =T RNEH &R - R G4/EFD+3/%+12
a5 : =i : A58 5% : nove— (1] 4 | v | BB | g% | AR |
N Al FIE 154K : FhER MUBSFIBS I B /1T EDSH B
E - = : 5158 - 5% : vt a9y [ 2] 2 [ XTv—] \ YN0 \
BRE-OUR | feh | aE | GiE BEn| BE XT sk __ MencELy
EE D% DR = T4 115 %;yl\m—wu—l\ (1] 2 [xTv—] ;;%;w | BE | |
>=1) 57 = = : =
EENJ%%%;FI% 20r = SERECRA DR (1] 2 [XxIvr—[20m ]| &4k | AF | |
BT [16r+18 R : 55 BRI
— f#Em (2] 2 [xTv—] 8BR] IEES |
012 flils | #E | (B8 | 178 XE SR HHR2RRD-3-LV
[1R]
Vﬁwt
= BB | 0 [AHEE | 0 | wroorsy
Zit e LT CNEF 3R + AVt : JrvY) (OykO-LY—k) (F—ILLrI) (F: RADEY (EFOKRHE)
UGNEXERAR Il y=1=| orx HARCHIE/HIED+LV/ T>7 = INSBBHT B S/ HRELV+TALC
A—=I2U5 b= POE i (pos) |EiE(neg) 3 1 e '«éif?%/» (AYRO=LY—R) (F=ILYD) GEHOBE) (CEOMF) (FEER)
\ NI aRiE =) N *"E[?;E‘TUE/%ED+LV/I&¥73+LVX5/%Eﬁﬂﬁﬁlf(¥7]+LVx4/.’&ﬁﬁ’diﬁ@:J—‘JL%?R - HTERSRC
1DV WE RECHIL=T7P N
aF AILE=F WH P N
EF P N
a2 P N
EZR P N
i P N
i
s SAREP. 16 [EmoBiEP:




FvS05—% T A~ ZFIE SL[JZXK[5r=vy] @i | nik | $IE | HIE XE
Wb“af—l\ ( AL 4] 2 [ATv—| BB HE
SHER - D+LV(4/5/6)
Pk B Y& #e #: RADS (3] 2 [ XYvr—] BR | B rOY |
BfE |SL|MEE| ##E [SL[EE| e [SL[EE| & [sL|[EE| |[w= HEEBE BHLVx2m
S il A8 5% ER D5 [ 1] 3 [ XTv—] [ LV+1 Py o4 |
JEEE =i RO - B3R R WRE+LV+TAIC
a4 i A 5% : AN (2] 4 [ XVv— | REB [ 8% | BE | * |
- - — TR : B+Vx5(10/15/20)
T xE KTEORF | 4] 4 [ XTv—] | B | B BEI20
HE[16r+18 R ¢ _ _ BFRARLVXA20/24)
o HEEH (1] 5 [ XJr—] BF p-UERYN O-4KE120
ST 0 |G| BY R _ MOURRWRER
S TR o 16 Ti1dua ] EE (1] 0 [xTvp—] | UUN O-L DEW |
+3F4JL0Y3Y 0 20 R i “ _ HEEIAN-LV+2
J-—E—r35v>? [2] 3 | -k [ =& | &% | B8 | |
R HRERFRED-LVX2(8)
monLEDR  [2] 3 [ A—F | IEEBIEEER |
HER Dif D SRR
BNFORN (1] 2 [ #—F ] | By | 58 | \
W -
EE e b (4] 4 [ #—r | =F BEER 9% | |
SHER - A ERI-LVx5(20/25)
% BEEISZANM [4] 3 [ 7+ | B BEER 89 | |
R HEABERY X-1D+LVx3(12/15/18)
2R DINE (2] 4 | #—F | EERIEER |
KIE 5 XE A +3D
H:gEnakE [4] 3 [ A—~ [ BR[| #4% | 88 | 80 |
R HEABERY X-LV+1D(5/6/7)
2. EIneR [ 1[1010] A—r | R [ &4k [ B8 | 100 |
PR MR : BRI E SRS/ RERR
EBT BEE (2] 20 | #A—F | B8R | &k [ A8 | 120 |
ZR HIEBEHERE-LVX10
F«JLOTay [2]4D10] A—k [ BR[| 2% | 88 | 120 |
R HEAERBR&RHLYX10(40)
E:NTTU—F<v5[1] 6 [ Z—F ] | By [ 8% | 120 |
R HIRREF1 DEIE/IAMIHP X
PFro—tlLo [ 1]4D10] A—F ] | B85 | 8% | 120 |
R HIBREF1 DEIE
MES 3% (1] EB=Ez | B85 | 5% | EN |
R 1ZI7F7" TXY7° OA
ROS—RUKL [ 1] BEE | | |
R HSWBEEERET 3.
A L (1] B | | |

FhER :

R B - R E TR (I,




FrSO5—%
{%ET—F

( L1y —%

¥4

X~

SAIZV0| HiE | WK

$I%E

HiBR

XE

TERRK 1

X — B

EE

R :

BADABERE(EC S,

1

Lol

=

(—I—Jzah— | 1]

ESAE | |

BeE

SL

{E1E

SL | {Z1E

BiaE

SL

E1E

ke

SL

fE1E

FhER :

BEAROBEFICEITS.

JEH

R -

&R

B

R -

B

R :

S

R -

B

ez - VR

GiE WEnN

i

XE

FhER :

FhER :

R

MR

R

MR

R

R :

FhER :

R :

ShER :

PR

FhER :

R

MR

R

MR

R

R :

FhER :



http://www.tcpdf.org

